SET

PART - 1 (Teaching Ability, Reasoning and General Knowledge)
anr - 1 (fifee aftafa, qeafe wd @ )
(w57 @& 1§ 100 %)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the area of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote ‘Indica’—
(A) Kalidasa (B) Kautilya
(C) Magasthenese (D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan
(C) Sushma Swaraj

(D) Govind Singh Kunjwal
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10.

11.

12.

13.

14.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R. C. Lahoti

(C) K. K. Malhotra (D) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radic (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Which of the following is not a domain of
learning—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
if he got caught. This illustrates Kohlberg’s—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail’ directly connects—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board” was the outcome

of—

(A) Kothari Commission-

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

(D) National Curriculam Framework - 2000,
(NCF - 2000)
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13.

16.

17.

18.

19.

20.

21.

22.

Rural Development Minister Nitin Gadkari
Jaunched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model (B) PTP model

(C) VTZ model (D) STS model

Who is the Army Chief of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D. K. Jain

(D) Dalbir Singh Suhag

When is Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand
Government is—

(A) Harish Rawat

(B) Dinesh Agarwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

When the child is ready to learn, he learns
more quickly and effectively. This principle
was given by—
(A) Thorndike
(C) Pavlov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are useful for the
society

(C) Create sociali stic persons

(D) All the above
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23.

24.

25.

26.

27'

28.

29,

30.

How many individuals were awarded the
2014 Raman Magsaysay Award ?

(A) Five (B) Six

(C) Four (D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
(D) 10 July

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the following sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

While teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by—
(A) trying to understand its causes

(B) motivating the students

(C) AandB

(D) reporting to Principal

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) Afier the practice teaching

(C) Before the practice teaching

(D) None of the above

Value education makes a student—
(A) Doctor (B) Good citizen
(C) Engineer (D) None of these
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31.

32.

33.

34.

3s.

36.

37.

38.

39.

District Primary Education Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were won by India in
2014 Glasgow Commonwealth Games—
(A) 10 (B) 12

() 14 (D) 15

In a lively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your View, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the social rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Dull child (D) None of these

Kumar Sangakkara (Cricket player) belongs
to which country ?

(A) India (B) Sri Lanka

(C) Pakistan (D) Australia

For the students of 3rd class, which will be
the best way for teaching ?

(A) Lecture Method

(B) Creational Activities

(C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents arc encouraged to—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it
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(D) None of these
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40.

41.

42.

43.

44.

45.

46.

If a student often comes late in the class you
would—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed the habit of dropping
the coat on the floor. Mother asked the girl
to get out of the room and hang up the coat
on the peg. The girl enters louse keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual learns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Learning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better 7

(A) Video simulation

(B) Hands on experiences

(€) Experimental

(D) None of these

‘Toy age” refers to—
(A) Early childhood (B) Babyhood
(C) A&B (D) Late childhood

Tobacco addiction is due to—
(A) Cocaine (B) Caffeine
(C) Nicotine (D) None of these
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47.

48.

49,

50.

Sl.

52.

53.

54.

58,

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication i8
described as—

(A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy to—
(A) Publish (B) Secure
(C) Decode (D) None of these

The National Disaster Management Authority
functions under the Union Ministry of—
(A) Home affairs (B) Water Resources
(C) Defence (D) None of these

Which one of the following is the best
method of teaching ?
(A) Lecture

(C) Discussion

(B) Demonstration
(D) Narration

The famous temple ‘Dhari Devi’ is located at—
(A) Near Srinagar (B)Uttarkashi

(C) Chamoli (D) Pithoragarh
4:9::79:27
(A) 8 B) 6
(C) 16 (D) 13
The sum of—
142+3+445 ciiieens + 100
(A) 5000 (B) 4500
(C) 5050 (D) 4050
91.{. 7 .g_..- _!- —
4 17 15
817 m
(A) 7 1020 (B) 7 1020
0] 77
© 020 D) #7020
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56. a__bb__baa_ bbb aa

(A) aabba (B) bbaab
(C) abaaa (D) baabb
§7. AZ,CX,FU,
(A) IR (B) IV
© JQ (D) KP
58. ,PSVYB, EHKNQ, TWZCEF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
Note: Q. No. 59 to Q. No. 62 depend upon
the following coding.
Figure éb D @ A '%
Code 1, 2. 3 4 5
Figure Q $ S D
Code 6 7. B 8

59. Which number is presented by fdllowing
figure—

COGP R~

(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. Which number is depicted by the following
figure—

OEARD

SET-A
S6. a_ bb__baa__ bbb__aa

(A) aabba (B) bbaab
(C) abaaa (D) baabb
57 AZCX,FU,
(A) IR (B) IV
©) IQ (D) KP
58. ,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
A2 : 9 . 59 ¥ 62 ffufaa 2 @ sman
wWE

ﬁ"C{PD@/A’#

8 9
59, ﬁwﬁmaﬁq%ﬂwaﬁwﬁhm

21

OGP R -
(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. :i;—‘rqﬁﬁr T W d@ e weidfa e
?
GHBARD

(A) 24672 (B) 46772
(C) 72246 (D) 27462

61. Fiiha § &9 &1 de weisfa e & ¢

TREGEAA

(A) 56714 (B) 19844
(C) 56744 (D) 56144

62. fr=ifra & & 4 der weiifg adr & 2

AGBAA

(A) 24672 (B) 46772
(C) 72246 (D) 27462
61. Which number is presented by the following
figure—
(A) 56714 (B) 19844
(C) 56744 (D) 56144
62. Which number is presented by the following
figure—
(A) 47645 (B) 45754
(C) 54674 (D) 74654

(A) 47645 (B) 45754
(C) 54674 (D) 74654
051502A




63.

64.

65.

66.

67.

Complete the following Number Series :
1,3, 11,47, e , 1439

(A) 239 (B) 293

(C) 932 (D) None of these
15,10, 5,150, 16,12,4,192,20,15,5, cooeee
(A) 700 (B) 600

(C) 400 (D) 300

2,20, 120, ..uvnnnns 3190

(A) 220 (B) 330

(C) 440 (D) 630

How many rectangles are there in the
following figure—

]
(A) 9 (B) 10
(C) 16 (D) None of these
Find the missing letter in the following table—
A|CI|E
N[K|H
RIVI?
(A) Z @) T
€) L (D) 1

68. Inthe foﬂowh\gﬁgimmwnmnimg\w arethere—

69.

70.

=

(B) 14
(D) 22 or more

If A= 1 and AID = 36, then BELL="7
(A) 16690 (B) 2210
(C) 1440 (D) 1210

(A) 11
(C) 16

Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar

(C) Bipendra Singh

(D) Jagat Prakash Nadda
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64.
65.

66.

67.

68.

69.

70.
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(C) 400 (D) 300
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(A) 16690 (B) 2210
(C) 1440 (D) 1210
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(D) A TS ST
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71. .............. has launched the new Guaranteed
Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B,-C, D in place of
question mark (?) i.e. make a full series.

n |(GHQIO| 7
3] ] ] @ Answer Figures

A B (© O

Question Figures

4N (UL uuf ?

Question Figures

LFLI_LI_L|FU-L U
® ® © O

7. B
@ @ Answer Figures

A) (B) (C) (D)

76. Q

Answer Figures

Question Figures

? |Question Figures

Answer Figures

2
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G
E

7. {8 | 1)

Question Figures
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78. Match list110 List II—
List List 11
(Name of MLA) (Constituency)
(a) Dinesh Agrawal (1) Khatima
(b) Subodh Uniyal ) Dharchula
(c) Pushkar Dhami (3) Dharmput

(d) Harish Rawat (4) Narendra Nagar
Code—
(a) (b) (c) (d)
(A) 3 4 1 2
® 1 3 B 2
(c)y 4 3 1 2
D) 4 3 2 1

79, The state animal of Uttarakhand is—
(A) Lion
(B) Cow
(C) Kasturi Mrag
(D) Elephant

80. Mil Mi-171s a/an ... helicopter.
(A) Russian
(B) Indian
(C) American
(D) None of these

81. The official state second language of
Uttarakhand is—
(A) Hindi
(B) Sanskrit
(©) English
(D) Jaunsari

§2. Who was Tapan Ray Chaudhary ?
(A) Historian '
(B) Economist
(C) Painter
(D) Actor

gl 1

(faama® & aqm) (e ¥
(a) & U (1) g
(b) gEE Sfare () SO
(c) T el (3) EHE
(d) &0 T (4) CE TR

ﬁg_._
(@) (b) ©) (

Ay 3 4 1
B) 1 3 4
© 4 3 1
D) 4 3 2
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Note : (Q. No. 83 to 87) Choose the right neat

83.

84.

85.

86.

87.

figure from the answer figure which one
is the next right figure for the question
figure series.

Question figures :

siiniinlizils

Answer figures :

HIBBIH

(A) (B) (C) (D)

Question figures :
4 =0|=0 xJoxOxA=|S5=0

x =+ = o x
Answer figures :
=0x|] =0ol=0X%X=0e

[ [ 4 S

(A) (B) (C) (D)
Question figures : s
AR an\an\anyar
NI N\
.;A_nswer Ilgure;_ ¢
Aaln\[aln| Al Al
e\l

Ay (B) (C) (D)
Question figures :
N T >+

e
e - 0 |
Answer figures :
+- o - o
- O 0 -4

Question figures :

Al | Hlclald 4> |a]s
s|clal=]=[*|4A]? |?2]|D

Answer figures :
4loj?lal?]lal4|o
v+ | +|+]|O|# Al

(A) (B) (C) (D)

e :

83.

84.

85.

86.

87.

SET-A

(we 6. 85 9 87 v®) Frfufaa st v ®
e H7 9l @ A @i SR & € dig
it 7 A e A I ey 9 S

U Sl & qehi
¥ Sl

9% JIFE 9ifgy 7

H

x n

=0 X[=0e
4 s

(A) (B) (C) (O
oo SR

e

(9]
b
[

1

»
b
~

13

051502A



ghesi peak of Uttarakhand— 88.

(B) Nanda Devi
(D) Neelkanth

Which is the hi
(A) Trishul
(© Chogori

88.

’jsre‘aaledtow;ﬁchstai&— 89.

(B) Uttar Pradesh
(D) Tamil Nadu

‘Operation Surya Hope
(A) Uttarakhand
(C) Bihar

89.

Who was appointed as 2 Nodal Officer for 90.

Relief and Rescue operation in Uttarakhand—
A) V. K. Joshi

(B) V. K. Sharma

(C) V.K. Thapliyal

(D) V.K. Duggal

90.

Hon. Govemor of Uttarakhand is appointed by— 91.

(A) Chief Minister of Uttarakhand
(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

91.

Who led the Chipko Movement— 92.

(A) Gaura Devi

(B) Chandi Prasad Bhatt
(C) Govind Ballabh Pant
(D) None of them

92.

< Ansuiya Prasad Bahuguna’ is also known
as5—

(A) Gandhi of Uttarakhand

(B) Garh Kesharl

(C) Vraksh Manav

(D) None of these

93.

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them

94.

93.

94.

SET-A
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95, Name of Kumaon in Purana’s—

(A) Kedarkhand
(B) Uttarakhand
(C) Uttranchal
(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following

96.

97.

98.

99.

figure and give suitable answer from
given options.

%4 17

2N ¢

7

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then—

30

How many artists and players are doctors—
(A) 6 (B) 8
©) 4 D) 3

How many artists are players—
(A) 30 (B) 29
©) 25 (D) None of these

How many artists are there who are neither
players nor doctors—

(A) 29 (B) 30

(C) 22 (D) 8

How many doctors are there who are neither
‘player nor artists ?

(A) 17 (B) 30

C) 8 (D) 17

100. How many players are there who are neither

artist nor doctor—

(A) 22 (B) 4

(C) 25 (D) 3

15

95.

qq(E 8

96.

97.

98.

99.

SET-
Wﬁmﬁaﬁﬁ?ﬂm%mmﬁf
(A) FTR@"S
(B) SErEvE
(C) Taiaa
(D) AaES

(9ST 6. 96 & 100 %) Td® U & (¢

Freifara sl &1 sremam & SR S
I A

.
(e J

SR

el Bryge sl &1, 39 feafyar

;ﬁammﬂaﬁmﬂ'aﬁmhm
|

fra FaER Ud Raarel Siwx § 7

(A) 6 B) 8

(C) 4 D) 3

fFae FaaR faerst E—

(A) 30 (B) 29

(C) 25 (D) &7 A FE &
e ST 0F € S 9 o Reend € e |
Bl —

(A) 29 (B) 30

©) 22 (D) 8

P @ Ed aa fead € R 7

AR 7
(A) 17
© s

(B) 30
D) 17

100. fry Raemdt O & S 7 o SR E AN A

Stai—
(A) 22 (B) 4
(©) 25 (D) 3
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SET-A

PART-2 (Science) / w1 - 2 (Rysm)
(Q. No. 101 te 200) / (Y57 E& 101 & 200 )

101. Which one of the following pairs is
mismatched—

(A) Pila Globosa — Pearl
(B) Apis Indica — Honey
(C) Kenia Lacca — Lac
(D) Bombyx Mori  — Silk

102. Special dance of honey bee is for—

(A) Reproduction

(B) Search of new house

(C) Destruction of enemy bees

(D) Convey the information of food source
103. What is the botanical name of sugarcane—
(A) Saccharum Munja

(B) Saccharum Officinarum

(C) Saccharum Berberi

(D) None of these

104. Beet root belongs to family—
(A) Apocynaceae

(B) Asclepiadaceae

(C) Chenopodiaceae

(D) None of these

105. Nucleic acid segment which is used to find
the position of a gene and it forms a hybrid
with this gene would be—

(A) Retrovirus (B) Probe

(C) Vector (D) None of these
106. In the hexaploid wheat, the haploid (n) and
basic (x) numbers of chromosomes are—
(A)n=7and x=21

(B) n=21 and x =21

(©) n=2landx=14

MD)n=2landx=7

16

101. Fr=1 & & & uw gitfer 78 &—
(A) U@ TSEmET — el
(B) Uit feam — 9%
(C) =if~ar wermr - @@
(D) stfegam Al — faer

102. TYARREE! & 9 97 .......... & g A
(A) Yo

(B) 72 = & @

(C) 917 wferadl a1 =y

(D) ST 9 3 gEr

TS F I T R -
(A) q&w Horr

(B) ¥ SMedfry
(C) T3 Tadh

(D) 519 & &5 78

o<t fha g # wftaferg 32—
(A) o

(B) Haifyz«

(C) drraifead

(D) ¥9 & &g &

YiTn I & gHE P win o= @
feafer s e & Wb T Ry o &
T Fed T

(B) 919

(A) Reramam
(D) 7% § %15 78

103.

104.

105.

(C) Ty

WEIRTT (Hexaploid) ¥ # 1ot #t symfr
(n) T A (x) dE@And o g—

(A) n=7and x =21

(B) n=21and x=21

(C) n=21andx=14

(D)n=2landx=7

106.
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107, The mass of 112 cm’ of CH, gas at STP is—

(A) 0.16 gm

(B) 0.8 gm

(C) 0.08 gm

(D) None of these

108. An isotone of ggt}e 1s—

(A) ;;Ge
(B) ';;Ge
© }EGe
(D) %Ge
109. The correct order of dipole moment is—
(A) CH, <NF, <H,0 <NH,
(B) NF,<H,0< NH, <CH,
(€) H,0 <NH, <NF, < CH,
(D) CH, <NF, <NH, < H,0
110. The change of energy required for freezing 1.00
kg of liquid water at 0°C and 1 atm pressure—
(A) 236.7 klg™!

(B) 333.4 kJkg!
(C) 3334 kJg*
(D) -236.7 kJg™
H1. In which compound 8 : 8 coordination is
found—
(A) CsCl (B) MgO
(©) ALO, (D) All the above
112. The trophic level of lion in a forest ecosystem
is—
(A) T, B) T,
©)T, (D) None of these

113. 3-D structure of RNA is called—
(A) Clover leaf model
(B) Hair pin model
(C) Helical model
(D) None of these

R SET-A
107. STP R 112 3f° CH, ¥ &1 iy &

(A) 0.16 I
(B) 0.8 am
(C) 0.08 I
(D) T & 1 T2
108. %Ge &1 amggifas 3
(A) 7Ge
(B) 1Ge
(C) 7Ge
(D) "Ge
109. feya smaot @ wér ww &
(A) CH, <NF, <H,0 < NH,
(B) NF, <H,0 <NH, < CH,
(C) H,0 <NH, <NF, < CH,
(D) CH, <NF, <NH, <H,0
110. 1 Tl wrl &1 0°C aik 1 agsdy o
(atm pressure) W 5\ ¥ yRaffq swf enfi—
(A) 236.7 kg™
(B) 333.4 kikg"!
(C) -333.4 kig"
(D) -236.7 kJg"!
111. fobw 9 ¥ 8 : 8w qrly ol -
(A) CsCl (B) MgO
(©) ALO, (D) S |+
112. F9-9Ra= § R 7 9Ny &1 2=
(A) T, (B) T,
©) T, (D) T & g =&

113. RNA 9t 3-D §099T Feamd 2—
(A) TR fiE Hew
(B) & 47 wfew
(C) &l Hizw
(D) &9 ¥ % 78

17
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114.

115.

116.

117.

118.

Which one of the following blood group
systems is determined by genes on the
X-chromosomes—
(A) Yt
©) X,

(B) ABO
(D) None of these

From a cross AABb x aaBb, the genotypes
AaBB : AaBb : Aabb : aabb will be obtained
in which of the following ratios :
{Ay1:1:1:1

(B)0:3:1:0

) 1:2:1:0

(D) None of these

Probability of genotype TTrr in F, generation
of a dihybrid cross is—

A *:i B 2
(A) 16 ®B) 76
o & iy
© 1% ®) 16
Which of the following figures shows correct

method of DNA replication ?

3

o
3 ——\Q%S.

5

3.
. D

@A) 3 . ®
ﬂm
«

sr

© : J&
lﬂg s

The rate of diffusion of SO, and O, is in the
ratio—

(A1 :(Jf ¥

B)1:32

©1:n

(D) 1:4

(D) None of these

18

114.

115,

116.

117.

118.

SET-A
Fret % & @9 W UF @ A T X @
o & a9y | Fraffe fear s g
(A) Yt (B) ABO
© X, (D) T & Fé

U HIE AABb x aaBb, gg@ witerzy
AaBB : AaBb: Aabb :asbh®, ¥ e & @
fery arame & g Ei—
(A 1:1:1:1
B)0:3:1:0
C) 1:2:1:0
(D) T4 & &g wEf
sEnRiaE &1 & F, Gl § sy TTra
Wiawar g &— '

3 9
(A);g (B)E

3 1
(C)E (D)‘I‘g
= % & ¥ w1 fig DNA e 2 98
fafer &7 zwifar &—

i 3
2
@A) g___—/{ ®) g’"ﬂ%
53'I -

.
© 3'_—.// ’

3 8

iy

5
3I

(D) ¥4 & #é

Sozeﬁioza&ﬁwaﬁmwagm%—
@A 1:(hHYy
B)1:32

©1:.5
D) 1:4
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- 118.

120.

121.

122,

123.

124.

o, U>* +n — fission product + neutron
+3.20 x 101 ],

The energy released when 1 g of b

undergoes fission is—

(A) 12.75 x 108 kJ

(B) 18.60 x 10° kJ

(C) 8.21 x 107 kJ

(D) None of these

If dissociation for reaction :
PCl, = PCL +C],

Is 20% at 1 atm pressure. Calculate K —
(A) 0.04

(B) 0.05

(C) 0.07

(D) None of these

pH of 0.1 M NH, aqueous solution is—
(K, =1.8x107)

(A) 11.13

B) 12.5

(C) 13.42

(D) None of these

The correct relationship is—
(A) AH +PAV = AV

(B) AE + AnRT = AP

(C) Both A & B are correct
(D) None of these

Which of the following proteins plays an
important role in ageing—

(A) Elastin (B) Collagen

(C) Actin (D) Myosin

The placenta of human beings belongs to the
category of—

(A) Haemo-chorials

(B) Syndesmo-chorialis

(C) Endothelio-cholrialis

(D) None of these

SET-A
119. ,,U* + n — Rrave 3@ + =gt
+3.20 x 1071 J.
fague 4 ot Faerft st U™ 1 v am
raveT § wwm 8—
(A) 12.75 x 108 kJ
(B) 18.60 x 10°kJ
(C) 821 x107kJ
(D) &7 & € 7&

120. 7R ©F afRar PCl, = PCL,+CL3

fore 1 argAvsg T W e 20% g &
WK F AR E

(A) 0.04

(B) 0.05

(C) 0.07

(D) T8 § B &

121. 0.1 MNH, & weiiq fawra @t pH 8-
(K, =1.8x10%)
(A) 11.13
(B) 12.5
(C) 13.42
(D) ¥ & &K TE

122. = § 9 s B—
(A) AH +PAV = AV
(B) AE + AnRT = AP
(C) A 3R B w8
(D) % & o &

123. 77 3 F 9 3 9 g # qeaqel gt

formrel 28—
(A) TafRes (B) P
(D) wrifes

(C) ufdes
124, 79 wder fohe Aot & sfaefa ormar &—

19
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125.

126.

127.

128.

129.

130.

A genetically dwarf plant can be converted
into a tall plant by the use of—

(A) Kinetin

(B) GA,

(C) TAA/X-rays

(D) 2,4-D

In the extreme drought condition which of
the following plant harmones is produced due
to which stomata closes—

(A) ABA (B) LAA.

(C) Gibberellin (D) Ascorbic acid

AIDS virus contains oOf Human Immuno
Deficiency (HIV) virus has protein coat
genetic material which is—

(A) Single stranded RNA with protein

(B) Double stranded RNA

(C) Single stranded DNA with protein

(D) Double stranded DNA

A single stranded DNA molecule is the
genetic material of bacteriophage—

AT,

®) 1,

(C) px 174

D) A

The science of naming the plants is knownas—
(A) Identification

(B) Classification

(C) Taxonomy

(D) Nomenclature

A group of plants with similar traits of any
rank is—

(A) Species

(B) Genus

(C) Taxon

(D) Order

SET-A
lzs.a@aﬁmé‘ﬁ'ﬁﬁaﬁwmw%
e & IqEm 4-
(A) FTEARA
(B) GA,
(C) TAA/X-rays
(D) 2,4-D

126.%@%%@%@?@?@
mﬁ%%wmﬁrm%ﬂ
(A) ABA (B) LAA.
(C) Fmtfe (D) TERIEE T

127, AIDS e & AT & A g T
F e SE q=

(A)Wa‘?mm@ RNA
(B) fegd RNA
(C);h‘aﬁ%quﬁa}?rDNA
(D) famst DNA

128. fope Seopeh # SnFAi T T T
DNA &7 &—
A) T,
(B) L,
(C) ¢ x 174
(D) 2

20
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131.

132.

133.

134.

135.

136.

137,

138.

Bacteria were first discovered by—
(A) A. V. Leeuwenhock

(B) Robert Law

(C) Robert Huckle

(D) None of these

*Citrus Canker’ is caused by a—
(A) Fungus (B) Bacterium
(C) Virus (D) Nematoda

Malaria parasite harms liver cells—
(A) In erythrocytic cycle

(B) After erythrocytic cycle

(C) Before erythrocytic cycle

(D) None of these

Chitin present in fungal wall has the formula—
(A) (CLHNO,),  (B) (C,HN,0,),

(C) (C,,H,N,O,,). (D) None of these

Columella is found in—
(A) Mucor / Rhizopus
(B) Spirogyra

(C) Moss

(D) Both (A) and (C)

Algae rich in proteins is—
(A) Chlorella (B) Spirogyra
(C) Oscillatoria (D) Ulothrix

Laminaria (kelp) and fucus (rock weed) are
the example of—

(A) Green algae

(B) Brown algae (Rhaeophyceae)

(C) Red algae (Rhodophyceae)

(D) None of these

Which of the following is also called as

“Graveyard of RBCs” ?
(A) Gall Bladder  (B) Kidney
(C) Splean (D) Liver

21

SET-A
131. S & wEwed @ fea @

(A) T. &, TR

(B) TEe @i

(C) e g

(D) &% & &IE 7

132. <iig %1 FF0 7 T Zra @ 2
(A) T9% (B) Sfraroy
(C) T (D) faicer

133, qeifiar weeidl agd SISl & JHa
S
(A) Thamamfes % |
(B) hamsied O & 9
(C) zhomasies a% & wgd
(D) 399 | F1E 7@l

134. e fafa § Suftera efes &1 widmr 8-
(A) (CnHﬁNdozl)n B) (C tH54N4022)n
(© (CHNO,), ©)FH & B

135. SIcgHET YTaT T &—
(A) FHUTEANE |
(B) wredimaa &
(C) dtg %
(D) & (A) 3R (C) &

136, WM T9=1 J4re 8-
(A) F@ET (B) ®ERTAT
(C) shfaaraifear (D) Fritferara

137. ©iFARaT (#@) 3R wFa (IF 96) e
TEATETT E—
(A) &0
(B) ‘{ﬁ SEI (Rhaeophyceae)
(C) @ §rm (Rhodophyceae)
(D) T8 ¥ FE &

138. =1 # & foroat @ ot @ ‘FlaE
At T ¥ 2 R

(A) fammer (B) 39%
(C) wier (D) g
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139.

140.

141.

142.

143.

144.

145.

Haversian system is found in—
(A) Blood

(B) Tooth

(C) Muscle

(D) Bone

XO type of sex determination is found in—
(A) Man '

(B) Grasshopper

(C) Horse

(D) Drosophila

The two polynucleotide chains in DNA are—
(A) Parallel (B) Discontinuous
(&) Antiparallel (D) Semiconservative

The minimum energy necessary 1o permit a
reaction is—

(A) Internal energy

(B) Threshold energy

(C) Activation energy

(D) Free energy

The charge on cobalt in [Co(CN)]* is—
(A) -6

(®)-3

(C)+3

(D) +6

The current ina given wire is 1.8 A. The number
of coulombs that flowin 1.36 minute will be—
(A) 147C
(B) 100 C
(C) 247C
(D) 347C

AlCl,, in reaction, acts as—
(A) Oxidizing agent

(B) Reducing agent

(C) Acid catalyst

(D) None of these

_SET-A
139, Taiyas = T Sl %, 0
(A) &
(B) 3
(C) Araash
(D) Hifed

140. XO mmﬁﬁﬁuﬁwmﬁmm% f
(A) 7=
(B) fe==
(C) =gt
(D) FrEfe

141. DNA #1231 Grefrfreierss s B &
(A) THFIE (B) 3r@da
(C) gfaar< (D) FEH

142. fd1 afeEm & fom =LA AEEH F
Bl B
(A) IR S
(B) ¥l Sl
(C) wfEaw i
(D) T St

143. [Co(CN) ) # FraTe T AEL &
(A) -6
®B) -3
(C) +3
D) +6

144. 7% A ® 1.8 AT E & ¥ 136
fore e waTed eri—
(A) 147C
(B) 100 C
(C)247C
(D) 347C

145. AICL,, siffiean # e HT -
(A) FTFITEE .
(B) ST=TF
(C) 31T THE
(D) SwirE § FE Tl

l 7 l 051



146.

- 147.

148.

149.

150.

151.

152.

153.

The coordination number of a action
occupying a tetrahedral hole is—

(A) 9

(B) 8

(©) 12

(D) 4

Sea snakes have—

(A) Cylindrical tail

(B) Laterally compressed tail )
(C) Dorso-ventrally flattened tail
(D) None of these

Hypothrombonemia is due to deficiency of—
(A) Vitamin - A
(B) Vitamin - B
(C) Vitamin - E
(D) Vitamin - H

Which blood group has both ‘a” and °b’
antibodies ?

(A) A (B) B

(C) AB (D) O

Which controls “Sleep-wake cycle” in the
body ?

(A) Vasopressin
(C) Melatonin

(B) Thyroxine
(D) Oxytocin

Gastrin is secreted from—

(A) Intestine (B) Stomach
(C) Pancreas (D) Liver
Which is a derivative of ectoderm ?
(A) Liver (B) Muscles
(C) Brain (D) Bone

Lac is a/an—

(A) Animal product
(B) Plant product
(C) Viral product
(D) Artificial product

SET-A
146.@@3%3&%&@3@%&%3@
HE -
(A) 9
(B) 38
(©) 12
(D) 4

147. g6 w9t § B ¥
(A) FEER T
(B) Wyd T [
(C) LTS T B
(D) T § g T

148, TrzdmrEET fEad F O ¥ B e
(A) frrtmT A
B) fartT B
(C) fF=afm= E
(D) fe=rfim H

149, Fre @ @ § ‘@ @d ‘b’ I QAR
Y A E ?

(A) A (B) B
(C) AB ®) O
150. 9 giK § “HRSrE & 9% & FEE
FETE ?
(A) TEEA (B) gradifea
(C) Bt (D) sifferrifE=
151. Afegs &1 @AY BT &, TH—
(A) 3= (B) sy
(C) s (D) T%d
152. TaRrSH § @ &F € 7
(A) agd (B) Uyt
(C) Af&Teh (D) @™
153. W@ & 8-
(A) S=g THEI<
(B) WEY I
(C) T/aw ST
(D) g ST
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154. Five kingdom classification was propounded

SET-A

154.ﬁawmﬁwmqfeﬁmﬁm~

by— () foad
(A) Linnaeus (B) FHaaX
(B) Cuvier (C) 3 (A) AR (B)
(C) BothAand B (D) 8 & & el
(D) None of these
155. Contribution of Carolus Linnaeus i5— 155. HU@H ofoae &1 AITET wooeeeeees 3 R E)
(A) TUPAC (A) TUPAC
(B) ICZN (B) ICZN
(C) Binomial nomenclature (€) e
(D) Artificial classification (D) FFH

156. The haemopoetic structure in embryo is—

(A) Amnion

(B) Allantois (B) Tarel
(C) Chorion (&)

(D) Yolk Sac (D) T &F

157. AgCl precipitate dissolves in ammonia due

{0 the formation of— R & FOT—

(A) [Ag(NH,),]0H (A) [Ag(NH,),JOH
(B) [AgNH,),IC1 B) [AgINH,),IC]

(C) [Ag(NH,),]0H (C) [Ag(NH,),J0H
(D) [Ag(NH,),ICI (D) [Ag(NH,),]C]

158. Mark the gas which turns lime water milky—

(A) 1,8 (A) H,8
(B) SO, (B) SO,
(C) CO, (C) CO, )
(D) B & C both (D)BGTRCa‘va

159. ITUPAC name of the following compound— 159. fore=t ATH & JUPAC 7 &—

0 )
% /\
CH,—CH,—CH—CH, CH,—CH,—CH—CH:
(A) 1,2-epoxy butane (A) 1, 2 TRl A

(B) Ethyl methyl ether (B) ufE@-AiE 2o

(C) Keto pentanone © it

(D) None of these (D) Eoul q wE B

=

lss.eﬁm@tﬁaiﬁ%waﬁ@wm%ﬁr%?
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160. Correct configuration of the following is—

CH,
H~—1—%0H
CH3 o B it OH
H

(A) 18, 28
(B) 1R, 28
(C) 1S, 2R
(D) 1R, 2R

161. In reaction :
Oxidatiaﬂ\ NaOH " Soda limc‘

CﬁH_‘iCHJ > A > B > C

then C is—

(A) C,H,OH

(B) C,H,

(C) C,H,COONa"
(D) C;H.ONa

162. Which of the following groups is not an

auxochrome—
(A) —H(CH,),
(B) — OH

(C) —OCH,

D) >C=N

163. Botanical name of Tea is—
(A) Cichorium intybus
(B) Camellia Sinensis
(C) Theobroma cacao
(D) None of these

164. Chocolate is obtained from—
(A) Cola accuminate
(B) Cola nitida
(C) Thea sinensis
(D) None of these

SET-A
160. o= &1 @@ aifufa=amg &—

CH,
H —r—OH
H

(A) 18,28
(B) IR, 28
(C) 18, 2R
(D) IR, 2R

161, srfufsrar
ST NaOH _ e
CﬁHjCH3 > A bl B Ll C

FC¥—

(A) C,H,0H

(B) C,H,

(C) C,H,COONa'
(D) CH,ONa

162. fr=fvifed & & & @ 9y AfFEwE @
B—
(A) —H(CH,),
(B) — OH
(C) — OCH,

(D)>C=N

163. 919 & q=&EIaF F19 &—
(A) deftas s=rega
(B) FAferar wrAtEg
(C) Frdremr HwEprsi
(D) 8 § &g &

164, TTHTE W BT 82—
(A) T Caghae &
(B) &rem wwefesr &
(C) forar wrzafg &
(D) &9 § FE &

25
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SET-A

165. Asafoetida is obtained from the species of— 165, €T UTE Bl T
(A) Ferula (A) ST Tt Ll
(B) Foeniculurm (B) BEFEHTH q
(C) Trigonella (C) Zrian i ¥
(D) None of these (D) T & T 8
166. Litchi is the native of— 166. @l A 1 &—
(A) China (B) India (A) TF & (B) W &
(C) Russia (D) None of these (C) &F & (D) T | FHIE T

167. Potato is native of—
(A) Brazil (B) Mexico (A) : s
(C) Peru (D) Panama (©) (D) 9AH
168. Pulses belong to family— 168. T & FEH ¥-
(A) Fabaceae (A) wErT B q
(B) Malvaceae (B) WAl B q
(C) Papaveraceae (C) et FF |
(D) None of these (D) W q @ Tl
169. How many different Kinds of gametes can 2 grEy e 9ed, fepe Tt
plant of genotype AaBBCc produce ? G & T I B T ¥
(A) 3 ®) 4 (A) 3 (B) 4
©) 9 D) 16 ©) 9 D) 16
170. The offspring of cToss between two pure 170. %1 & T & w| ¥ IqH Hafy FEAE
strains is called— -
(A) Hybrid (A) T
(B) Mutants B)
(©) P 9l
(D) F, T

©P generation

(D) F, generation
171. Of the 64 codons, how many code for amino 171, 64 FEAT A &, T it @ e i
acids ? FQAE ?
(A) 31 @®) 41 (A) 31 ®) 41
() 51 (D) 61 (€) 51 D) 61
172. Seeds are kept in Water swell up due to— 172, ar & T@R A G o ¥
(A) Absorption (A) SFasET & B
(B) Imbibition (B) 3 ST %
(C) Osmosis C) qTE % F0
(D) S 2 F & HR

(D) Plasmolysis



173. Témpcrature of leaves is controlled by—
(A) Absorption (B) Guttation
(C) Respiration (D) Transpiration

174. The total number of stereoisomeric forms of
CH,Cl, known, is—
(A) 6 B) 7
©) 8 (D) None of these

175. The correct order of ease of dehydration of
the following is—

I 11 I
(A) I>11> 11
(B) MI>T>1
©I>1>1
(D) WI>1>11

176. The active ion in Tollen’s reagent is—
(A) Cu*
(B) Cu(NH,),*
(C) Ag'
(D) Ag(NH,),’

177. Which of the following is the weakest acid—
OH

@ | O

(B) CH,COOH
COOH

(C) HCOOH D)

178. Molecular formula of chloropicrin is—
(A) CHCLNO,
(B) CCL,NO,
(C) CCLNO,
(D) CCLNO,

L2 ]

) SET-A
173. ufaail &1 e fraf=m gar -

(A) JEstor 37T (B) ﬁvgma AL

(C) sa9% &I (D) areimsh grr
174. CH,Cl & % T frfiia gamradt &—

(A) 6 ®) 7 ‘

(©) 8 (D) ¥ & =i TE

175, fofien & foffga 9 1 wé #o

"5'__
Oro Qo O
I I 11

(A) I>T> 10
B) I>1>]
(©I>I>1
(D) NI>1>1]

176. 2fe sifwerdsr § wivg amge &
(A) Cu*

(B) Cu(NH,),*
(C) Ag'

(D) Ag(NH,),*
177. 591 & 1 3 g g o 2

OH

(A) (B) CH,COOH
COOH

(C) HCOOH D)

178. ARG 1 anfoas o 2—
(A) CHCI,NO,
(B) CCI,NO,
(C) CCI,NO,
(D) CCLNO,
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SET-A

179. Orlon has a unit— ’ 1

(A) Glycol (A) TATZHT

(B) Vinyl Cyanide (B) forrEe WEES

(C) Acrolein (C) T

(D) None of these O)FHEEF @l

180. An example of @ sulphur containing amino 180, TFH TH oY S 1 IAEC -

acid is— (A) (B) &
(A) Lysine (B) Serine (&) (D)

(C) Cysteine (D) Tyrosine

181. Cybrid is produced in—
(B) Embryo culture

(A) Anther culture
(C) Ovule culture (D) None of these

182. Xenia is effect of pollen on—
(A) Endosperm (B) Flower (A) YT g 9 (B) T8 W
(C) Nucellus (D) Root (C) SrosEd | (D) T8 W
g o 99

183. The main pressure responsible for water .
absorption in a living cell is— A e
(A) Diffusion pressure deficit (A) Foren & =

(B) Osmotic pressure (B) qUETETE €

(C) Turger pressure (C) ThIfT &=

(D) Wall pressure (D) fufr <

184, Fueiad d7E iy T &
' (B) stfeern #

s ovule is found in—
B) Opuntia
(D) Raphanus

184. Circinotropot
(A) Malva

(C) Polygonum
185. Which is odd ~ccording to parasitism ? 185. TRl @ S W 2 T € !
(A) Bed bug (B) Mite (A) T (B) fr=st (wz2)
(C) Lice (D) Plasmodium (©) % D) 2
186. Biogenic law was given by— 186, RS FaE T g fEa—
(A) de Vries (B) Haeckel (A) § A= 3 (B) & A
(C) Lamarck (D) Darwin (C) e (D) =i =
187. Uric acid is the chief excretory product of— 187, gt o<1 5 et v B
(A) Cockroach (A) TWEE @l
(B) Frog (B) We® F
(C) Monkey ()
(D) g A
051!

(D) Earthworm



- 188.

189.

190.

191,

192.

193,

194.

Which of the food components in human
beings reaches stomach totally undigested ?
(A) Protein

(B) Starch

(C) Fat

(D) None of these

The gametophytic generation of a fern plant
is termed as—

(A) Prothallus

(B) Sporangium

(C) Zygote

(D) Sorus

Rhizophore is present in—
(A) Equisetum (B) Isoetes
(C) Selaginella (D) Stylitis

Function of thyroxin hormone is—
(A) To grow

(B) To develop

(C) Self immunization

(D) To control metabolism

Bats have special sensory system called—
(A) Eco balancing system

(B) Eco location system

(C) Eco flying system

(D) Eco nervous system

Filteration takes places in—
(A) Malpighian corpuscles
(B) Bowman’s capsules
(C) Glomerulus

(D) None of these

The heart beat increases at the time of
interview due to—

(A) Secretion of adrenaline .

(B) ADH (Antidiuretic hormone secretion)
(C) Hyper secretion in renin

(D) Corticortrophic hormone

28

SET-A
188, wgedt # fr # & @ & @ wew A |
fereagm fomm e wia ¥—
(A) 9&
(B) =
(C) Ta
(D) =¥ & B1E &

189. W UTeY F1 TGS UGl el e—
(A) TigeH
(B) Seiroperri
(C) g™e
(D) ¥R (SR §9)

190. T3GR SuRRYq &ar 8-
(A) T § (B) smgwiEed #
(C) foafriar & (D) wiEemfed d

191. areifee eI &1 J&F & &—
(A) 7
(B) fazmg
(C) @ girreEHEar
(D) Feragifersy @ fgeyo

192. 99MeE & 9 S §a FTud o ® ¢
(A) TEEEET a=
(B) SHIWIBIA Tt
(C) $0 wWIET T
(D) $=t &g T

193. fg= giar 2—
(A)wwﬁ'
(B) g9 |
(C) wHsas §
(D) == | = =&

194. TR & 99 fo6g Wi & gav & srm
%39 W= &I e g% Sl 85—
(A) TERfe @1 sifeama
(B) A.D.H. ©Cerqiies HA
(C) = &1 aiferamam
(D) FiHrAe et

051502A



195. Amount of air exchanged in breathing can
be measured with a— ’
(A) Barometer
(B) Spherometer
(C) Spirometer
(D) None of these

196. Mullerian duct is—
(A) Oviduct
(C) Ureter in duct

(B) Sperm duct
(D) Urethra

197. Rate of growth can be expressed by—
dt
=W
(A) Vi o

dw 1

Y=

w
= —xdt

b dw i

(D) None of these

198. Chargoffs rule states—
(A)A+G=T+C
B)A+T=G+C
©C) A+C=T+C
(D) All the above

199.1f the sequence of base in DNA is
ATTCGATG, then the sequence of base in
its transcripts will be—
(A) GUAGCUUA
(B) CAUCGAAU
(C) UAAGCUAC
(D) None of these

200. Which of these is used as vector in gene
therapy for SCID—
(A) Arbovirus
(B) Rotavirus
(C) Enterovirus
(D) Retrovirus

30

SET-A
195. 619 @ ¥ 919 & NEE-YSH AT ST
%_
(A) T
(B) TR B
(C) wrgidiet g
(D) 3 & F1g T

196. YuiftaT s3e w1 B
(A) SEEFR (B) wfeae
C TR @ T (D) Rew

197. % @t & fo7 # § e w awr el o
el &—

A V=Lw
(A) V=

vl
(B) V= dt w

w
(©) v=a-;xdt
(D) & & g 7

198. IRt 5w & srgan—
(A) A+G=T+C
(B) A+T=G+C
(C)A+C=T+C
(D) 39tiga g+

199. R DNA X &Ri &7 %9 ATTCGATG B ar
T § a7 &7 5 em—
(A) GUAGCUUA
(B) CAUCGAAU
(C) UAAGCUAC
(D) 7 & FE &

2ou.ﬁwﬁémscma$rrrﬁﬁraw&ma?r
TE TGt Td & 7
(A) IREER™E
(B) T
(€) T=HREmam
(D) Rgrarmwa
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